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(1)2(x+2)(x-3) @2+ —= +1 @2+ % _3

NG
(4)5 G)x+ X +1

CAN D

jag | 124

1758 P(X), % &_P0)=2, PX+1)=P(X) +3x>+3x+1,

4—1 BN eE g B R (F 4
%
¢ x=0, 1, 2, 3, .., £ PX=?

3% X3+ 2

247 | @ PX+1)—P(X)=3x>+3x+1, swP(X)& = =t > 5%,

=2,% PX)=ax®+bx?+cx+2,a#0,P(x+1)=a(x+1)3+b(x + 1)?
+ce(x+1)+2, P(x+1)-P(x)=3ax*+(3a+2b)x + (a+b+c)=3x>+
3x+1..3a=3, 3a+2b=3, a+b+c=1, #a=1, b=0, c=0,

ZPX)=x3+2.
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1. 3% %9858 f(x)=(x2—x+1)4:ao+a1x+a2x2
(1) % #8 . (2) & 78 4B e .
(3) 1y =& 78 Th i . (4)+ =x 38 Bl Ao .

. +a8x8, F

2% | (1D)1:(2)1;3)41;(4) - 40

4-1 s Rt (F 341

3 4)

1. F(1+2x+3x2+ ... + 10x% + 11x19)(1 — 3x2 + 5x* -

1Ix0) ke B 18, X ek .

7x5 + 9x8 —
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1. 57N f(X)=x"-8x3+25x°-30x+8=a(x—2)*+b (x—
2P +c(x—22+d(x-2)+e
ARla+b+c+d+ez 5 =

8

&
245 | x=3 &~ @

a+b+c+d+e=3*"—8x33+25%x32-30x3+8=8.

4-1 % ﬁfwmﬁaﬁ@*(ﬁyﬁi

1. ¢ o 58 f(X) =23 =52+ 6x + 3 ¥ g(x) = a(x — 1)(X —
D(Xx-=3)+bx-1DXx-2)+c(x—-1)+d4p %, £F#a, b,

c, d =g .

i#% | a=2, b=7, c=5, d=6

(f()=g1) (6=d

f(2)=9(2) |11=c+d
#1002 g e, sl DTG c

=
f(3)=9(3) 30=2b+2c+d
f(0)=g(0) [3=-6a+2b-c+d
2t a=2, b=7, c=5, d=6.
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1 e w3 X +ax®+2X+ b st L X2+ 2x— 2 & ﬁé
P #c¥t(a,b) =

28] (-72)

fE41
1-2- 1
l+2—2>]ﬁ0+ a+2 + b :'$§VTE§, A3 5 0,
1+2— 2 J.a+7=0, b-2=0,
-2+(a+2)+2 .-.a:_7’ b:2,
2 (a+z)j PR #st(@b)=(-172)
- 1-2 + 2

(a+7)+0 +(b-2)

A-1 % 78 ;N\ gnE B £
1L & f(X)& g Fh &7 = 2354, A h(X)
it FEernE I8
(D (X) + g(X) =% FcAZFE T =<
(2)f (X) — g(X) =% | *> T =X
(3 (X) = h(x) ek 5 = = 5 58 3¢

@) F(X) = (2x+ 1) N 5 8, B f(x)+ W+ﬁm%4;
B)F f(x) = (Bx -1 3¢ 5 q(x), R f(X)T(6X— 2) e 3¢

. a0x)
T2
2% | 5
ﬁ;ﬁ (DF (x) + g(x) == Zﬁiu PAZET L (QF (X) —g(xX)F e HT K §
- (3)¢ f” TIL Ao FARG G r(X), R 0<degr(x)<4 & r(x)=0, d

é&;\ * - T H =X %iﬁ (4);{ f(x)_(2x+1)q1(x)+8, Al
H@=u+§2%uh8,%u%ﬂé8.6mﬂ00:6x—ﬂmm+r,w

f(x)=(6x—2)-%q(x)+r TILTE N G —q(x) .
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1. F(4x* +5x% +2x + 3) + (2x — 1)mﬁs PR

11

” - 5
i3 % B E 23+ +3x+ &, AL

-1 7Nyt (§F 4

1. % f(X)=8x3—12x* +8x —5=a(2x — 3)® + b(2x - 3)2+c(2x—
3)+d.

()% a, b, c, dehiE .

(2) & f(1.501)eiE ] | HBEU T H == (S e T »)
(3)1»f(3+2\/_

f2% | (a=1, b=6, c=13, d=7;(2)7.026;(3)55+ 422
fFir | (DI ‘*@“,f i, TRf()eg S

f (X) :8(x—§)3 +24(x—g)2 +26(x—g)+7 :
— (2x—3)* +6(2x—3)2 +13(2x—3) + 7|3+ ,a=1,b=6,c=13,d=7 .
(2)#-1.501 & » , @

f (1.501) = 1(2-1.501 — 3) + 6(2-1.501 — 3)2 + 13(2-1.501 — 3) + 7 ~
13-0.002 + 7 =7.026 .

(3)7 ; 3+§\/§=§+\/§, E

f (X) :8(x—§)3 + 24(x—§)2 + 26(x—§) +7

oy f(3+2*/_) 8(x2)° + 24(N2)? + 26(x2) + 7 =55+ 4242 .
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1. % f(x—2)=5x3+2x—-47, B f(X)3

2% | 5x3+30x°+62x—3

fﬁ#”}"? o /‘T‘@ Kﬁ; E
f(x—2)=5x3+2x-47 =5(x—-2)*+30(x — 2)> + 62(x — 2) - 3,
£ x—2=t, 1@ f(t)=5+308+62t -3,
T f(x) =5x3+30x% +62x - 3 .

-1 s g R (¥ 448 112)

1. & x?011 42011 “,/TT 12 2011x + 2011 kg 3N

f2% | 2010
f247 | % x?°M 42011 =(2011x + 2011) - Q(X) + r
X=— 1 TJ“ »

= (- 1)1 4 2011 = [2011 x (— 1) + 2011] - Q(—~ 1) +r
—r=(- 1)1+ 2011 = 2010 .
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1. & & f(x) = 123x* — 234x3 — 36x% + 48x — 50,

10~ N
e
E | -2

At | AR EEBX=28 2 f)RTQ)niE, #Kp iR, 3% 53

ed Al @iE; T2, vALE Tx-2 () skt

Sy RS TR (GO
123 234 -36 +48 —50[2
+246 +24 24 +48

123 + 12 -12 +24 |—_2

wf(2)=-2.
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4-1 3@ B Ry (F 357 14)

1. @ &% 3 3¢ f(x)",f X+ 1 E45 55 ",4rt X =2 HAEs 2,
F1(X) " (X + 1)(x — 2) ek 5 4

f2 % -X+4
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1.&¢I§'\f(x)“fux+1 X—=3, X+4 24\ s w5 4, 32,
—38,H f(x)"fu(x+1)(x (X +4)z &5\ 5

2% | —x2+9%+14

17 | d R f(-1)=4, 1(3)=32, f(-4)=-

Z2fX)=(X+1X-3)(X+4)Q(X) +ax*>+bx +c
f(-)=a-b+c=4

=< f(3)=9+3b+c=32 32 {8a=-1, b=9, c=14
f(-4)=16a—4b+c=-38

e F ()% L (x+ 1) (x = 3)(x + 4) 2 4858 5 ~ X2+ 9x+14 .

4-1 5 BV @ 5 Bt (F 5 A3 16

1. &;Iﬁ‘\f(x)“f'J(x2+x+1)2 px3+x2+4x+3,,fux
+345:4V 5 1, &
(DFf ()75 X2+ X+ 12 458,
(2)f (x)% X2+ X+ 1) (X + 3)2 A 5E

: A0

2% | (1)3x+3;(2)x*+4x + 4

247 | (DF (X) = (X% + x + 1)%qa(X) +(x3 + x2 + 4x + 3)

= (X% + X+ 1)%qu(X) +[(X® + X + 1) x X + 3x + 3]

=X +Xx+ D[+ x+1)qu(X) +X] +3x+3 LA RARN L 3X+3
2 (X)=(x+x+1)X+3)gX)+a(x®+x+1)+3x+3
=>f(-3)=7a-9+3=1 =a=1

RN L (C+X+1)+3X+3=xX2+4x+4 .
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1. & &rX= 1 , 22X =33 32— 2X+ 2 thiE .
3-8
[ES 4+\/§
347 | wfX)=2x"-3x3-3x?—-2x+2.
5% x= L L _ 4,

J3-V8 J2-242+1 V2-1
sl x—1=2 = (x-1)?=2= x> —2x-1=0,
3y f ()% 1 X-2x—1EF N5 24 +x+1, #5385 x+3,
FfX) =X -2x-1)2x> +x+ 1) + (x + 3),
#ex 1241k N F f(\/§+l)=0+(°\/§+1+3)=4+\/§ .

4-1 B @ B S * (F 5 423 18)

1 % f()% == 5355, ¥ £(1996) =-3, f(1997)=4,

—_—

f(1998) =5, f(1999) =6, i f(2000)=

2% | 13
247 | £(2000) = (- 3)x (2000 -1997)(2000 —1998)(2000 —-1999)
(1996 —1997)(1996 —1998)(1996 —1999)

14, (2000 ~1996)(2000 - 1998)(2000 ~1999)
(1997 —1996)(1997 —1998)(1997 —1999)
.5, (2000 -1996)(2000 1997)(2000 - 1999)

(1998 —1996)(1998 —1997)(1998 —1999)
.6, (2000—1996)(2000~1997)(2000 ~1998)

(1999 —1996)(1999 —1997)(1999 —1998)
~3+16-30+24=13.
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1. DN fX)=axd+bx+cm & f(0)=-2,f(3)=4,f(- 1)
=4, fa+b+c=
(2)e vz =x Snfc f (x)mg.ﬁﬁ:@]’]p?ﬁ TG b ehd gk
A(122,t), B(123,5), C(124,6), D(125,25), E(126,44),

Pl t=

f2 | (1) -4(2)40

fE47 (DE2HFFEZ, XTX)=px(X—3)+0X+r

f(0O)=r=-2
ArxEIFR)=0-3+r=4
f(-)=p-D(-1-3)+q-(-)+r=4
A p=2, g=2, r=-2 &#f(X)=2x(x—3)+2x—-2
frfa+b+c=f(1)=2-1-1-3)+2-1-2=-4.

(2)ix 4L % 5 f(123) =5, f(124) =6, f(125) =25, f(126) =44, i
#t=1(122)

kA HFREE, K (X)) =a(x-123)(x — 124)(x — 125)
+b(x —123)(x — 124) + c(x — 123) + d

RIS
f(123)=d =5
f(124)=c-(124-123)+d =6
f(125) =b(125-123)(125-124) +¢(125-123) +d =25
f(126) =a(126 -123)(126 —124)(126 —125) + b(126 —123)(126 —124)
| +c(126-123)+d =44
28 a=-3, b=9, c=1, d=5
e t=1(122) = (- 3)(122 - 123)(122 - 124)(122 - 125) + 9(122 -
123)(122 -124) +1- (122 -123) +5=40 .
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1. & X+ 33+ I +mx+n a &}t(xz—l)(x+2)f{",ﬁ%,
1, m, nzZ &

[ES =1, m=-3, n=-2

245 | £ (X)) =x*+3x3+ X2+ mx+n
f())=4+1+m+n=0...0
f(-1)=—-2+1-m+n=0...0
f(-2)=—8+41-2m+n=0...®
FO@O®#EF I=1, m=-3, n=-2.

4-1 3B e R (F 4 42
1. 2% degf () =3, * f(2)=f(-3)=f(4)=-5, f(1)=19, B
f(6) = .

2% | 139
347 | wf(X=ax-2)(x+3)(x—4)-5,
d f(1)=19=>12a-5=19F a=2=Ff(X)=2x - 2)(x +3)(x —4) =5

=f(6)=2x4x9%x2-5=139 .
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1.

B gy 2 (F 5 A 22)

2 f(X)cm = 5358, xXA3Ez G#cs 1, 2(x+1)2 5 f(X)=
T30, FFOR 2 (x— 1) 2 AR 16(x— 1), sRAT(X) .

2% | xX*+4x3+2x2-4x-3

4-

(X)) =(x+1)2(X°+ax+h)=(xx-1)%g (x) + 16(x — 1)...®
f()=4(1+a+b)=0, b=—1-a

=f (X) = (x+1)2(x2+ax—1—a)=(x+1)2(x—1)(x+1+a)...®
DOA N2 8L x-1EFX-1)gX)+16=(X+1)*(x+1+a)

Ex=1&»1+;4816=4%x2+a), ..a=2, b=—1-a=-3
SFX) = (X +H D)2+ 2x—3) =xt +4x3 +2x2 - 4x - 3 .

| s i@ n & * (F 5487 23)

=

4.f()=ax—13+b(x—1)2+c(x—1)+d, £ 4f(1)=f(2) =
f3)=f(@)=2, Mla-b+c—d=

3 k%

2% | -2

35| f(X)-22 5 Lz
3 4pExiEl 2, 3, 4B LF(X)-2=0
Sodw f(x)=2

JSfO0)=-a+b-c+d=2>Fa-b+c-d=-2.



4-1 5 3 i@ B g ¥ (F 5 323 24)

1583 +6x—23 42 —x -2 & &, B G- = 7

X g4 % .
X B

[ES xX+21D(x-1)(x+2)

345 | 33X +6x =23 —4x2—x—2=(x—1)(x + 1)(x + 2)(3x*> + 1)
3 +6 -2 4 -1 2|1 3 49 +7 +3 +2|-1 3 +6 +1 +2|-2

3 49 +7 +3 +2 -3 6 -1 -2 -6 +0 -2

3 49 +7 +3 +2 0 3 +6 +1 +2 0 3 +0 41| O

G- HFAFA = X+ DX - D)X +2) o

7

4-1 3 3 i@ B g ¥ (F 5 323 25)

L xfX)=x-3a+bx+4 7% x+12% x-2:hF;%, Ry

(@,b)=

5
7 R _’0
& (3 )

345 | f(X)=x*—3ax+bx+4d F 232
f(-1)=1-3a-b+4=0-f(2)=16-12a+2b+4=0
3a+b=5--O@ 5 5
200% a=—, b=0 ..(a,b)=(=,0).
:{12a—2b:20---®* A @.0)=(3.0)
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1. 2 axt+ b +exd+dx+e=x-2)* - (x—2)°+2(x — 2)? + 5(x
-2)+7, fabecdez i

2% | a=1, b=-9, c=32, d=—47, e=29
347 | £ R y=x-2, PIx=y+2, T RN
aly +2)*+b(y+ 23 +c(y+2)2+d(y+2)+e=y* -y +2y> + 5y + 7,

N7, N 50 R N % A
éﬁ,ll\ﬁmé\v“,ﬁilz Eam N2

1-1+2 +5 +7 |-2
-2+6 -16+22
1-3+8 —-11]|+29=e
-2+10-36

1-5+18|-47=d
-2+14

1-7| 32=c
2

1,-9---b=-9, a=1.



